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Candidates must write the Code on the
title page of the answer-book.
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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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General Instructions :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.

Internal choice s given in Sections B, C, D and E.

Questions number 1 and 2 in Section' A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in_about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.

AT A

SECTION A
A1 % 3cATGl T ARG &l I8 o % fafaw |
Name two industries based on forest produce.
forgq Srectl SR fargd, seaftEl o a9 SreEe g G % 7 g gt %
T S B 3 ?
Why are the heating elements of electric toasters and electric irons made
of an alloy rather than a pure metal ?
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SECTION B
3.  UfF w1 anfvas g fafay o sueht saeei-famg s Eifae | 2
Write the molecular formula of ethene and draw its electron dot
structure.
4, 0T ?ﬁﬁq :

(a) IS, TMeg R FHeat T ITAN STV i s H fohaT ST 7 |

(b)  wifeay i ufirm St argsti w1 wueRy daf § gee fRn St e |1 2
arera

FO R dh 9 § Gell T W fiear (A7) 6 aeqe sieft 9g It 8 Sefen

HI (qTe) o Tl bl ol H W@ T3 FHehicl P Ioai W gl T 59 Srt

2 | 91y § ufeyd 39 ugret & am foiflge St 37 argent @ sifufskan e € qen

g9 9T Icqrel & 4 forfge 4 2

Give reasons :

(a)  Platinum, gold and silver are used to make jewellery.
(b)  Metals like sodium and potassium are stored under oil.

OR

Silver articles become black when kept in open for some time, whereas
copper vessels lose their shiny brown surfaces and gain a green coat
when kept in open. Name the substances present in air with which these
metals react and write the name of the products formed.

5. &l 1 MU uEdAi 17 8 | ®6t H TR hl @A 74 e | fafa |
TeRTRT <1 =T 3 x 108 m/s B | 2
The absolute refractive index of Ruby is 1:7. Find the speed of light in

Ruby. The speed of light in vacuum is 3 x 108 m/s.

qHr |
SECTION C

6. T Tt H S (II) A8¢e o Al T o 0T hl TH HEd T HEAT DR
JFETTES, O qAT HI5 W T8 X T 7 | 3
(a) 3T 3fufsran & TR 3 1 X &l Yg=TT |
(b)  3ffsean =1 Tgfera Tamfe Tt fafae |
() T8 X ST fae= &1 pH WiE fafaw |
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On heating blue coloured powder of copper (II) nitrate in a boiling tube,
black copper oxide, O9 and a brown gas X is formed.

(a)  Identify the type of reaction and the gas X.

(b)  Write balanced chemical equation of the reaction.

(c) Write the pH range of aqueous solution of the gas X.

(a) Torelt 37T 1 Tghd hLd THI AT STIIET FAI hi Il 7 foh A ol
S # T =i T o6 5 1 o | 2

(b) Ih TESOH FANGS NH Ik fofemd oF & W § His qiadq &l
A | w2

AT
ST T WfSIm gEgiaaTss fohg Yo ST SI1dT & 2 39 fshan o1 9W faifay |
39 Ufsha H IUIcaTg o €9 H i NG X ol 7 | T8 T8 94 & a1 | 1w
hich ohis Jleh Y sHTd! =, fomes S wEe e 4 foieH e & w9 1
fopan ST B | X SR Y 1 UgEnHE q9r B et Stfufeamett o wamafaew
gfietor fAfEu |

(a)  While diluting an acid, why is it recommended that the acid should

be added to water and not water to the acid ?

(b)  Dry hydrogen chloride gas does not change the colour of dry litmus
paper. Why ?
OR
How is sodium hydroxide manufactured in industries ? Name the process.
In this process a gas X is formed as by-product. This gas reacts with lime
water to give a compound Y, which is used as a bleaching agent in the
chemical industry. Identify X and Y and write the chemical equation of
the reactions involved.

IYFYHl TFEATSS T BId & ? Ueh 3QT80 T | 319 I I gfee & forw
i TEmfeh FHieh faRay |

What are amphoteric oxides ? Give an example. Write balanced chemical
equations to justify your answer.

HIed AfTenl hI AT J0fT T BT 8 2 Teh 3@ SIMGT qAT 39k oA
srfirereaont shr g SR |

What is a homologous series of carbon compounds ? Give an example and
list its three characteristics.
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10. difdshl & &9 H THOE qmor R fowmadt qwor & i a9 et
rfiyereqon Y FE SR | 3

List in tabular form three distinguishing features between autotrophic
nutrition and heterotrophic nutrition.

11. Ir9icEsd Tl hgd @ 2 39 @ i fARgu | 3
HAAAT
(a) ATl fh8 HEd § 2 ITgdl o oI I8 =i A1awer 3 2
(b) TV o Hoa&y 1gdl H 9gref gl ugad @ ? 3
What is transpiration ? List its two functions.
OR

(a)  What is translocation ? Why is it essential for plants ?
(b)  Where do the substances in plants reach as a result of translocation ?

12. TfihER =1 BT 2 2 39 it v o sk fafgu | 3

What is carpel ? Write the function of its various parts.

13. I3 B o fopelt guur o6t 379+ 219 § Gshel g371-8, QYU % WIedeh I3
T I 3TN HISAT 8| 3ok UYEIq I8 IUdidd JehIST i €Ul & fehe Tt T
! 3ffc W ST 8 | 3
(a) U =l M o TI¢ 39 FIT ST AT 2
(b) 3ok U TohY SRR HIEHIT o1 2
() o1 98 39 ThIhaId GNI S0 gUUl <l Hidshe B gl Fulf@ s
T ? S0 ThUT § ST ITLhl gfSe U7 gt 3T Th1eT fohtor i@
et IV |
CPC)]

10 cm ST IS o 12 cm BIhE gt & fohefl 301 0 & &I 19 & ordd.
@l ? | oE g fore gl 18 cm § | S arar widfersr shi wepf, feafa stk

TS T4 1T | 3
A student holding a mirror in his hand, directed the reflecting surface of

the mirror towards the Sun. He then directed the reflected light on to a
sheet of paper held close to the mirror.

(a)  What should he do to burn the paper ?

(b)  Which type of mirror does he have ?

(c) Will he be able to determine the approximate value of focal length

of this mirror from this activity ? Give reason and draw ray
diagram to justify your answer in this case.

OR
A 10 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 12 ecm. The distance of the object from the lens
is 18 cm. Find the nature, position and size of the image formed.
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15.

16.

R O 1 81d @ ? R U hl AT <l e HIfSu | 9 At § eg O
Y@ ol i G TR |

What are solar cells ? Explain the structure of solar panel. List two
principal advantages associated with solar cells.

gedt o AIAVEA h 1 F H IAHH g FdIed Aawdeh &l fafae | a8
fr8 TR St 7 2 ITgEvEA | A 1 U § fiee o foiu Soerfht dvaifya
WA &1 AW faRau | 59 Wl o 39§ fhg e Y <hl ST gehdt § 2
Write the essential function performed by ozone at the higher levels of
the Earth’s atmosphere ? How is it produced ? Name the synthetic
chemicals mainly responsible for the drop of amount of ozone in the
atmosphere. How can the use of these chemicals be reduced ?
W
SECTION D

(a) HSHAE o 3TMEd FHEH i FHI] of aTcl feheal oA &I 31 FH ST |
(b)  MYHeH 3Tad ARl H,

(i) Tt 3Tad ® 9T ¥ ¢ 9 w®,

(i)  Torelt Tg (F9) H SR & A& I =®,

qal o GTfcaeh. AN | foh& TehTL {=or BiaT & 2

T I & forw SR AfSe |

roqaT

IR adi A, B, C 31 D o TRHTIST H Selde-i o1 19 Hieh 4 foaio 38 YR 3
o6 37 ol % STRIAH SHISN § Selere 1 Sl TEAT SHUST: 1,3, 5 3R 738 | Yl
JEd ARt H g awal bl @9g (YU) T faf@u | B 3R D TR
Sl fa=Im8 qem B 3R D % S & o AMfieh 1 11fvesh g fafaw |

(a) List any three observations which posed a challenge to
Mendeleev’s Periodic Law.

(b)  How does the metallic character of elements vary on moving from
1) left to right in a period,
(ii))  from top to bottom in a group
of the Modern Periodic Table ?
Give reason for your answer.

OR

The electrons in the atoms of four elements A, B, C and D are distributed
in three shells having 1, 3, 5 and 7 electrons respectively in their
outermost shells. Write the group numbers in which these elements are
placed in the Modern Periodic Table. Write the electronic configuration of
the atoms of B and D and the molecular formula of the compound formed
when B and D combine.
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17. (a) AISHIF T0% BT IUANT A hl Talg R ¢ Il 7 ? FIR A9 |

JTTNEIA 1 HHY &% HRUT I dTel U T 70 37 IHehT Teh Aequ forfge |

(b) THR IR H dfEeRT e fohH TohR THT od & ? SRedT shifoid | 5
T
Saad fhd wgd 3 ? 38 uftaeT wi feffa w0 & fau feedt wam 6
U1 <HIFT | 5

(a)  Why is the use of iodised salt advisable ? Name the disease caused
due to deficiency of iodine in our diet and state its one symptom.
(b)  How do nerve impulses travel in the body ? Explain.
OR
What is hydrotropism ? Design an experiment to demonstrate this
phenomenon.

18. (a) THSITA HL=ATC 1 el 8 ? Uoh 300 i | o
(b)  “Torelt asima gy &1 formm @13 T B iR Uk fofu gl Sehi § @
foreft =t oft STReRR 98 AT S Tear |7 aat ® o fafor @ gt

Tt YATg 3TR@ oh! TRl §.39 A 6l gfee i | 5
(a)  What are homologous structures ? Give-an example.
(b)  “The sex of a newborn child is a matter of chance and none of the

parents  may - be considered responsible for it.” Justify this
statement with the help of a flow chart showing sex-determination
in human beings.

19. T9 I8 &d UM & fob hig oA Feweglse g s1gen deigfe, av @ difsa 7 2
refefee 2 o 1 ul gl SR | R om@il i wrRar | dHgfe
TN 9 ° GG S I HIMIA LA hl SRS hiT | 5

When do we consider a person to be myopic or hypermetropic ? List two
causes of hypermetropia.  Explain using ray diagrams how the defect
associated with hypermetropic eye can be corrected.

20. (a) TrHEl T hl wEEAr § 19 I8 ey fopm weer Tehei for foreft Sk
ﬁéﬂﬂ%ﬁiﬁﬁ%ﬁaﬁﬁa?ﬁquﬁﬁuﬁ%ﬁw%mmﬁww
SIEH'%H ?

b)) = fer U afgy w fEmr Hifse st afgy & s g9 i feafa |
gy ¥ JaTfed 9 3R 15 Q & a0y & i W e s hive | 5

AT
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(a)

(b)

(a)

(b)

(a)

(b)

317211

T gfcige® Ry, Ry 3R Rg UI¥ashH § GAINIA § a1 Jg TIIeH fohelt
sell, onfit, dicediet 3R FHoil & TIAINIG 7 | IUgFd U9 3@
Hifau i gfctierent o T9eH o e Tty & fore sk wmea hifse |

= fqu U e @1 qed fatiy gitehfaa i

20 Q
10 Q VWV

A —AA—] B
VWV
20 Q

How will you infer with the help of an experiment that the same
current flows through every part of a circuit containing three
resistors in series connected to a battery ?

Consider the given circuit and find the. current flowing in the
circuit and potential difference across the 15 Q resistor when the
circuit is closed.

5Q 10 Q 15 Q

NAAAY NAYAAY, NAYAAY,
+| iy

| (.)

I‘—‘I \*/
30V

OR

Three resistors Ry, Ry and Rg are connected in parallel and the
combination is connected to a battery, ammeter, voltmeter and
key. Draw suitable circuit diagram and obtain an expression for
the equivalent resistance of the combination of the resistors.

Calculate the equivalent resistance of the following network :

20 Q
10 Q VWV

A — MW B
VWV
20 Q
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21. et &fae +EaE A oreeq ToRd fohet Y YRETE aTctsh o RO Icqd
Jrah &F W@iell & Yed Eitaw | gfau-gead o8 fem fafaw st swem
STIIERT &= w@rel hit foun oifhd e  hifve | 30 Y wee § I W
foreht fomg W, &t grehr & faeifea foren S 8, greshr & i firar o
frE TR 9ftadH BT B ? 379 TR i gfse o forw svrw @R | 5

Draw the pattern of magnetic field lines produced around a current
carrying straight conductor passing perpendicularly through a horizontal
cardboard. State and apply right-hand thumb rule to mark the direction
of the field lines. How will the strength of the magnetic field change when
the point where magnetic field is to be determined is moved away from
the straight conductor ? Give reason to justify your answer.

" g
SECTION E

22. Torelt foreges 3 fomiters <Rl SRITRIICN H ST | UHIRRH oFFd, Sid, g @1 ™,
Tifsam gEgioH e R AfSIn gegieass & Sl faerm i stk pH
g 3 UeIel % pH WM J1d ohid o fore shar | forell 139 37 ugreri & pH A
U 3, 12, 4, 8 3N 14 o | $H | ST 9 TEL FE R 2 BRI {C
3Eh! Hel 7 Ty | 2

HAAT

IR Sfiehll H AT Tothe T dlell sHT faeiaq 9 8 3T 90 shAwT: Ugiatam,
HIR, AR IR o 6 Telwifld = 6 T ufeaf @ . & | o
30 Tie < uvaTq h1g BT 319 w1 Yerr T 2 2

A teacher provided acetic acid, water, lemon juice, aqueous solution of
sodium hydrogen carbonate and sodium hydroxide to students in the

school laboratory to determine the pH values of these substances using
pH papers. One of the students reported the pH values of the given
substances as 3, 12, 4, 8 and 14 respectively. Which one of these values is
not correct ? Write its correct value stating the reason.
OR

What would a student report nearly after 30 minutes of placing duly
cleaned strips of aluminium, copper, iron and zinc in freshly prepared
iron sulphate solution taken in four beakers ?
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26.

forel WEell § 2 mL UHISH 3 ool 3UH Tk Yool Hitedd gIEgeH
HEHe A W = Yo fhu Sid @ 2 39 YRl H B dret STfufshar o
e gt fafE |

What is observed when a pinch of sodium hydrogen carbonate is added to
2 mL of acetic acid taken in a test tube ? Write chemical equation for the
reaction involved in this case.

feefioost it o1 ST S o TR TN 6 HHIR T R |

AT
T geueEh il 3= wfed § foret duIn Tmse o1 wleur s o uveEnq feReft
B 3 g T fepren o6 & 8 womge § e wehehifes Sffe @ fgmve &
fafira =or qufe e & | 39 @ Jaoi A fofge e smam w A frsed
frehTett ST Wehal B |
List in proper sequence four steps of obtaining germinating dicot seeds.

OR

After examining a prepared slide under the high power of a compound
microscope, a student concludes that the given slide shows the various
stages of binary fission in a unicellular organism. Write two observations
on the basis of which such a conclusion may be drawn.

9 foemer it TR 9 T k1 Ue0 i o U fordHl Uit o et
STEARfl AU AR Hd qag fordl B g STl S atet 9| araent o
eIl §4 15T |

List four precautions which a student should observe while preparing a
temporary mount of a leaf peel to show stomata in his school laboratory.

g 6l JTIATHR Ylgeht (TAel) oh fohet Teh hefeh T I 45° o I T YA
i aTell T fohtor &1 99 ARfgd HIfST | 33 3@ W (1) 3T9ad v,
(ii) a7 3T (jii) UTfedes faeeme Sifera hIf |
Ao

HIE B NG H v S7gER foret e & 59 @ T arelt yehrer fomtor w1
T ITRAGT Al 7, T 39 NG I AYT BIS ¢al & AR 3 AR off T8
AT | 39 NG I GO Wieeht T HIWT q91 30 W i, Le, £r IR D
3ifera hIfT |

Draw the path of a ray of light when it enters one of the faces of a glass
slab at an angle of nearly 45°. Label on it (i) angle of refraction, (ii) angle
of emergence and (iii) lateral displacement.

OR
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A student traces the path of a ray of light through a glass prism as shown

in the diagram, but leaves it incomplete and unlabelled. Redraw and
complete the diagram. Also label on it /i, Ze, Zr and £D.

27. foreft ufmy o g vfoligs & yarfga g 3R 38 il w favearw om@ 1
a9 ficfterdict 3R diceHier g guIT T qTd=iehi o TIHN & :
(a) o Uil & TcuqHih FT 7§ ?
(b)  SfaUiges w1 Afaue fohaat 8 ?
200 2

100 300 X//£XKH+H+H+Hﬁg~£i\\

mA Vv

The current flowing through a resistor connected in a circuit and the
potential difference “developed across its ends are as shown in the
diagram by milliammeter and voltmeter readings respectively :

(a) What are the least counts of these meters ?

(b) What is the resistance of the resistor ?
200 2

100 300 X//£XXH+H+H+HﬁHHii\\

mA Vv
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